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1 Write the words.

  broom     

    

2 Complete the sentences.

1 The Wolf is not  as  expensive as the Tiger. 2 The Fox is  than the Tiger.

3 The Fox is  as small as the Hamster.  4 The Hamster is the .  

5 The Tiger is the  expensive. 6 The Wolf is as  as the Tiger.

7 The Fox is  than the Hamster. 8 The Tiger is the .

9 The Tiger is  comfortable than the Hamster. 

3 Circle the correct words. 

The costume is too big / isn’t big enough. The clothes line isn’t long enough / is too long.

The light is too bright / isn’t bright enough. The music isn’t loud enough / is too loud. 

The movie isn’t exciting enough / is too exciting. The cloth isn’t clean enough / is too clean.
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Tiger
$50,000

Fox
$15,000

Wolf
$15,000

Hamster 
$1,000
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